Freight Rates - Western 1 & Western 2

BASIC CHARGE OF \$25.00 (EXCL GST) APPLIES TO EACH CONSIGNMENT.

ADDITIONAL CHARGE OF \$15.00 (EXCL GST) APPLIES TO FREIGHT TRANSPORTED ON WEEKENDS & PUBLIC HOLIDAYS.

FROM	ТО							
	WESTERN 1	Brisbane	Wellcamp	St George	Cunnamulla	Thargomindah		
	Brisbane		1.59	4.02	5.73	6.73		
	Wellcamp	1.59		3.17	4.77	5.86		
	St George	4.02	3.17		3.05	4.02		
	Cunnamulla	5.73	4.77	3.05		2.30		
	Thargomindah	6.73	5.86	4.02	2.30			

FROM	TO TO									
	WESTERN 2	Brisbane	Wellcamp	Charleville	Quilpie	Windorah	Birdsville	Bedourie	Boulia	Mount Isa
	Brisbane		1.59	5.00	6.48	7.32	8.93	9.05	9.16	9.77
	Wellcamp	1.59		4.28	5.86	6.59	8.19	8.43	8.55	9.16
	Charleville	5.00	4.28		1.34	3.43	4.89	5.62	5.73	7.07
	Quilpie	6.48	5.86	1.34		1.70	4.28	4.64	5.02	6.59
	Windorah	7.32	6.59	3.43	1.70		1.95	3.55	3.79	5.50
	Birdsville	8.93	8.19	4.89	4.28	1.95		1.46	3.43	5.25
	Bedourie	9.05	8.43	5.62	4.64	3.55	1.46		1.46	4.28
	Boulia	9.16	8.55	5.73	5.02	3.79	3.43	1.46		2.08
	Mount Isa	9.77	9.16	7.07	6.59	5.50	5.25	4.28	2.08	

How to calculate freight cost

- 1/ Select rate from the above grid and multiply by the higher of gross weight (in kilograms) or volume weight of consignment. Volume weight is calculated by dividing volume of the consignment (in cubic meters) by 0.006. Note: live animals are always charged at gross weight (in kilograms), not volumetric weight.
- 2/ Add \$25.00 basic charge
- 3/ Add 10% GST to total

Example:

A 5 kilogram item of 0.02 cubic meters in volume, from Mount Isa to Charleville

Gross weight (kg) = 5.00 Volume weight (0.02/0.006) = 3.33

The gross weight is higher, so it is used to calculate the freight rates:

5 kgs x \$7.07 = \$35.35 Plus \$25.00 = \$60.35 Plus 10% GST = \$66.38

Freight Rates - Gulf

BASIC CHARGE OF \$25.00 (EXCL GST) APPLIES TO EACH CONSIGNMENT.
ADDITIONAL CHARGE OF \$15.00 (EXCL GST) APPLIES TO FREIGHT TRANSPORTED ON WEEKENDS & PUBLIC HOLIDAYS.

FROM		TO TO								
	GULF	Cairns	Normanton	Karumba	Mornington Is	Burketown	Doomadgee	Mount Isa		
	Cairns		4.39	4.39	5.62	5.37	5.86	6.96		
	Normanton	4.39		1.83	2.69	2.32	2.69	3.91		
	Karumba	4.39	1.83		2.69	2.32	2.69	3.91		
	Mornington Is	5.62	2.69	2.69		2.08	2.20	4.28		
	Burketown	5.37	2.32	2.32	2.08		1.82	3.55		
	Doomadgee	5.86	2.69	2.69	2.20	1.82		3.55		
	Mount Isa	6.96	3.91	3.91	4.28	3.55	3.55			

How to calculate freight cost

- 1/ Select rate from the above grid and multiply by the higher of gross weight (in kilograms) or volume weight of consignment. Volume weight is calculated by dividing volume of the consignment (in cubic meters) by 0.006. Note: live animals are always charged at gross weight (in kilograms), not volumetric weight.
- 2/ Add \$25.00 basic charge
- 3/ Add 10% GST to total

Example:

A 5 kilogram item of 0.02 cubic meters in volume, from Mount Isa to Burketown

Gross weight (kg) = 5.00 Volume weight (0.02/0.006) = 3.33

The gross weight is higher, so it is used to calculate the freight rates:

5 kgs x \$3.55 = \$17.75 Plus \$25.00 = \$42.75 Plus 10% GST = \$47.02

Freight Rates - Northern 1 & Northern 2

BASIC CHARGE OF \$25.00 (EXCL GST) APPLIES TO EACH CONSIGNMENT.

ADDITIONAL CHARGE OF \$15.00 (EXCL GST) APPLIES TO FREIGHT TRANSPORTED ON WEEKENDS & PUBLIC HOLIDAYS.

FROM	TO							
NOR	RTHERN 1	Townsville	Winton	Longreach				
Tow	vnsville		3.37	4.50				
Wint	nton	3.37		1.13				
Long	ngreach	4.50	1.13					

FROM	TO							
	NORTHERN 2	Townsville	Hughenden	Richmond	Julia Creek	Mount Isa		
	Townsville		2.07	2.84	3.79	5.32		
	Hughenden	2.07		0.76	1.71	3.23		
	Richmond	2.84	0.76		0.95	2.47		
	Julia Creek	3.79	1.71	0.95		1.53		
	Mount Isa	5.32	3.23	2.47	1.53			

How to calculate freight cost

- 1/ Select rate from the above grid and multiply by the higher of gross weight (in kilograms) or volume weight of consignment. Volume weight is calculated by dividing volume of the consignment (in cubic meters) by 0.006. Note: live animals are always charged at gross weight (in kilograms), not volumetric weight.
- 2/ Add \$25.00 basic charge
- 3/ Add 10% GST to total

Example:

A 5 kilogram item of 0.02 cubic meters in volume, from Townsville to Mount Isa

Gross weight (kg) = 5.00 Volume weight (0.02/0.006) = 3.33

The gross weight is higher, so it is used to calculate the freight rates:

5 kgs x \$5.32 = \$26.60 Plus \$25.00 = \$51.60 Plus 10% GST = \$56.76

Freight Rates – Other Routes

BASIC CHARGE OF \$25.00 (EXCL GST) APPLIES TO EACH CONSIGNMENT.

ADDITIONAL CHARGE OF \$15.00 (EXCL GST) APPLIES TO FREIGHT TRANSPORTED ON WEEKENDS & PUBLIC HOLIDAYS.

FROM	ТО						
	OTHER ROUTES	Bamaga	Mount Isa	Townsville			
	Cairns	5.38	6.96	5.46			

How to calculate freight cost

- 1/ Select rate from the above grid and multiply by the higher of gross weight (in kilograms) <u>or</u> volume weight of consignment. Volume weight is calculated by dividing volume of the consignment (in cubic meters) by 0.006. Note: live animals are always charged at gross weight (in kilograms), not volumetric weight.
- 2/ Add \$25.00 basic charge
- 3/ Add 10% GST to total

Example:

A 5 kilogram item of 0.02 cubic meters in volume, from Bamaga to Cairns

Gross weight (kg) = 5.00 Volume weight (0.02/0.006) = 3.33

The gross weight is higher, so it is used to calculate the freight rates:

5 kgs x \$5.38 = \$26.90 Plus \$25.00 = \$51.90 Plus 10% GST = \$57.09